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OChristmas Addition and Subtraction

Solve the following word problems.

A Christmas tree farm has 300.5 yards of
Christmas lights. They used 125.25 yards on the
first free and 75.35 yards on the second tree. How
many yards of Christmas lights do they have left?

The Christmas tree is 15.75 yards tall. The star on
top is 0.25 yards tall. After placing the star, the
tree's height increased by 0.5 yards due to the
snow. How tall is the Christmas tree now?

Rudolph has 9.99 |b of carrots and 4.44 |b of apples
for his Christmas meal. He ate 3.33 Ib of carrots
How much food does Rudolph have left?

Santa's sleigh can hold 50.00 Ib of gifts. He has
already loaded 25.25 Ib of gifts. After loading
another 12.12 Ib of gifts, how much more can he
load onto his sleigh?

Mrs. Claus baked 10.00 Ib of cookies. She gave 3.33
Ib to the elves and 2.22 Ib to Santa. How many |b of
cookies does Mrs. Claus have left?

A candy factory produced 250.5 Ib of candy canes.
They shipped 100.25 Ib to the first store and 75.35
Ib to the second store. How many pounds of candy
canes does the candy factory have left?

The elves used 15.15 yards of wrapping paper for
the gifts. They used another 10.10 yards for the
bigger gifts. If they started with 30.00 yards of

‘rapping paper, how much do they have left?
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